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For it was taught in a Xn>3, ‘If it was lean and he fattened it, etc.’

OVERVIEW

27 taught that the 179 is paid according to its original value while '™ 71 995 are paid
according to the value 172 7727 nyw21. This ruling was challenged by nww 27 who
cited a Xn>92 which states that by 7nwm 7wInD he pays ' ' %93 according to the
original value, and not as 27 maintains that he pays 172 77297 nyw>.! It is apparent
from the question, that nw¥ 217 assumed that 27 (when he made the distinction
between 177 and 21 993) was also discussing a case where there was an increase in
value after the item was stolen (and not only a case where the value diminished) for
otherwise there is no challenge. M901n questions the correctness of this assumption.

nvoIn asks:
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It is astounding! How did it even enter the mind of nww 29 that 29 was
discussing a case where the animal was lean and he fattened it?!* For if it is
indeed so that 27 is discussing a case of AWM AW, it would turn out that 27

was diminishing the power of the principal. 21 maintains that the 17p is paid 213w Py
(when the animal was a mw12) and the '™ "7 992 is paid 1"72 772Y7 nYw> (when the animal is a
n1rnw). The result is that we are stricter for ' "1 993 [where he pays (the multiple of) the higher

value (7°'»w)] than we are for the 72 [where he pays the lower value (7212)]. This cannot be -
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For from the statement of 21 it is indicated that he comes to strengthen the
power of the 17p and to diminish the strength of 'm "1 %52,

mooIn proves this point that 27 empowers 7P over 'm "7 992:
- *na oy VY ¥NRYN NN 2NY )P¥ 3Ni71‘1 19PY NINNR ININPY

For 17 stated 7»nX [only] for the 39p, like he stole; and 7> nX indicates an

' The xn3 answered that by 7w 7wInD even 21 agrees that he does not pay 1972 77277 N¥w> for the 233 has a valid
argument; N7PW DX R1A°0D RIX (the improvement is due to my investment and is not yours).

2 1t would seem that Mmoo question is not limited to 71°»wmM AW, but rather N1BOIN maintains that 17 cannot be
discussing any case in which there was an increase in the value of the item (even X7 X1p?), for then there would be
an empowerment of 131 953 ¥M2wn over 11 MM7WN.

3 See previous X913 77"7 mwon that we derive that 'm "7 993 is P72 71MYn nyw> from the fact that only by the 177 is
there a requirement of 213w P 1IP? 77NN,

* Moo assumes in this question that the term i means to make it ‘alive’; indicating that the 177 payment is alive
and vigorous as opposed to the payment of 'm '71 995 which is ‘dead’ and weak.
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empowerment. If there is an empowerment only for the 177 and not for "1 93, it would be
illogical to assume that 121 992 »m>wn should be more stringent than the 779 *M%wn. Therefore we
must assume that 27 is only discussing a case where the price of the item decreased; then 777 has
a 113 "1°; it pays the original higher price, while 121 993 are weaker for they pay the current lower
price. How then can w"9 assume that 27 was discussing a case of 71°nwm AwINd?!

N1B0IN answers:
- DYV PYY NIN 293 YWY PR NANT 1YY W

And one can say; that 771X is not an expression of empowerment, but rather

(only) an expression of payment -
= SAANR 297 YT IN ANY PIDNH DIYWNRY 921 5

And anything which compensates for the loss which he caused by stealing or

robbing is called 779°71R. Therefore 21 did not mean that 177 is stronger (or weaker) than 71 %93
‘M. We may therefore assume that 27 is discussing all cases whether the price increased or decreased,
and indeed occasionally (if there is an increase in value) "1 795 will be ‘stronger’ than 17p.

mooIn seeks to prove this point that 27 is not empowering the 179 over 'm "1 992:
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And it is also so indicated at the end of this discussion where the X 1) states;
for the sheep, [he pays] it is as it was initially;” however concerning ' '7 993 he
pays as it is worth now’, this -

- %o YYN NHVT NMIINT 7T 910D XIIT XMWY RIPIYN 199N ¥HWUN
Seems to mean that even if initially it was worth a 11, and at the end it was
worth four o°17, similar to the case of a sheep which became a ram (where the

value increased) -
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A payment which compensates for a loss (such as 17p) is referred to as 7 [for it revives the (‘dead’) loss] (as
opposed to the payment of 'm "11 793 which does not compensate for a loss).

6 %,10. The X7 there challenges the opinion of 27 from X AwyN 770 where the ruling is that he pays 121 792 as it
was worth 213w 7°¥5. The answer of the X3 is 1wy YW 217 XAP°wnTd X501 [others amend the X073 in our NN to
read this way as well]. 2>X%v 7"7 '01n2 w"»y for n" "3 W7o,

7 The meaning of X7p°¥»7> X0 is that for any change in the physical characteristic of the 770 (such as X 7wy or
121 7rnwn) he pays 21w Pvd. However concerning a change of X7 X7y (which 21 is discussing) he pays »woy 2w3;
and that is the meaning of 1"w2y w3 ' '7 993.

¥ We are contrasting 770 to 793; just as by 2°X 7wy 720 there is an increase in value, the same holds true for the case
of o7. See previous footnote # 6.

’ We see from this conclusion that %53 pays at a higher rate than 177 (for the %95 pays '7 [the current value] and for
177 he pays only a 11 [the original value], and there is no r3 "> for 7P over 121 993. See X"w1n who asserts that
there is no proof however from 'm "7 *n9wn; for just as he pays 'm '7 multiples of the o°117 '7 that it is worth at the
time of 71r°2v, he also pays 7 for the 77p, since the rule is that if the 213 destroys the item while it is in his possession
he pays the price of the item as it is valued at the time of its destruction.
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He pays the 95> at the current clevated price according to the explanation of
the »''1 later. And I will explain it there with the help of aws.

mooIn cites a differing opinion:
- yamh 9N 19393 W% DN 13929 1790)

However the n''1 later explains the answer of XnWiT> 07 RIPPWNATY DXV in a

different manner -
:1m9sY XYY 1972 DY NYYW 29 MNP 9990 N3 YYT

That when 219 said concerning 121 993 that it is 1972 772w nyws he intended to

diminish the strength of the 5> and not to empower it. Only if the price decreased
does 21 maintain that 121 992 pays 172 7717 nYw2; however when the price increased (regardless
of the cause) the 121 993 is paid 213w 1v.

SUMMARY

The >"1 maintains that there is no 12 "19° of 77 over 121 995 according to 27 (and 21 is
discussing all cases regardless whether there was an increase or a decrease in price);
while the n"9 maintains that when 21 ruled that %93 is 172 77297 nYw> he meant only
to diminish the 112 of 121 795 (and 27 is only discussing a decrease in price).

THINKING IT OVER
1. The words of 213w 13 17p 7°°1X; are they the words of 27, or is it an explanation
furnished by the xn3?"

2. Mmoo cites the &3 which states 1woy Hws M '7 993 [0Pwn] RPPYATY DKL,
Seemingly if he was 7511 12w (for that is when he pays 'm '7); then the 177 is also
»way Hwa.”” Why then does the X3 state that (only) »way 5w> 'm '7 953 when the
17 is also Yway Hwa?'

3. According to the n"9 that 27 intends to be ¥1an the nd of 121 992; the original
question of Moo remains: why did w"3 assume that 27 is discussing 7w
717w, where there will be a 13 »19° for the 191 9957?

19 2oK50 71"790 ;0.

""" According to the "1 no proof can be brought from the answer of 121 X1p*v72 oK%Y, that 7nx does not mean a
3 *19° of 7P over 793, for according to the n"1 there is no instance where 17p is weaker than %93.

2 See n"n.

Y See (end of) footnote # 9.

" See X"wamnY 2" M.
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